
              Braindump2go  Guarantee All Exams 100% Pass              

One Time! 

 350-401 Exam Dumps  350-401 Exam Questions   350-401 PDF Dumps   350-401 VCE Dumps 

https://www.braindump2go.com/350-401.html 

 

 Vendor: Cisco 

 

 Exam Code: 350-401 

 

 Exam Name: Implementing and Operating Cisco Enterprise Network 

Core Technologies (ENCOR) 

 

 New Updated Questions from Braindump2go (Updated in July/2020) 

 

Visit Braindump2go and Download Full Version 350-401 Exam Dumps 
 

QUESTION 131 
Refer to the exhibit. What is the result when a technician adds the monitor session 1 destination remote vlan 233 
command? 

 
 

A. The RSPAN VLAN is replaced by VLAN 223. 

B. RSPAN traffic is sent to VLANs 222 and 223. 

C. An error is flagged for configuring two destinations. 

D. RSPAN traffic is split between VLANs 222 and 223. 

 
Answer: A 
 
QUESTION 132 
An engineer is describing QoS to a client. Which two facts apply to traffic policing? (Choose two.) 
 

A. Policing adapts to network congestion by queuing excess traffic. 

B. Policing should be performed as close to the destination as possible. 

C. Policing drops traffic that exceeds the defined rate. 

D. Policing typically delays the traffic, rather than drops it. 

E. Policing should be performed as close to the source as possible. 

 
Answer: BC 
 
QUESTION 133 
Which configuration restricts the amount of SSH that a router accepts 100 kbps? 
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A. 

 
B. 

 
C. 

 
D. 

 
 
Answer: C 
 
QUESTION 134 
What are two reasons why broadcast radiation is caused in the virtual machine environment? (Choose two.) 
 

A. vSwitch must interrupt the server CPU to process the broadcast packet. 

B. The Layer 2 domain can be large in virtual machine environments. 

C. Virtual machines communicate primarily through broadcast mode. 

D. Communication between vSwitch and network switch is broadcast based. 

E. Communication between vSwitch and network switch is multicast based. 
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Answer: AD 
 
QUESTION 135 
When a wireless client roams between two different wireless controllers, a network connectivity outage is experience 
for a period of time. Which configuration issue would cause this problem? 
 

A. Not all of the controllers in the mobility group are using the same mobility group name. 

B. Not all of the controllers within he mobility group are using the same virtual interface IP address. 

C. All of the controllers within the mobility group are using the same virtual interface IP address. 

D. All of the controllers in the mobility group are using the same mobility group name. 

 
Answer: A 
 
QUESTION 136 
What does the LAP send when multiple WLCs respond to the CISCO_CAPWAP-CONTROLLER.localdomain 
hostname during the CAPWAP discovery and join process? 
 

A. broadcast discover request 

B. join request to all the WLCs 

C. unicast discovery request to each WLC 

D. Unicast discovery request to the first WLS that resolves the domain name 

 
Answer: D 
 
QUESTION 137 
Which two namespaces does the LISP network architecture and protocol use? (Choose two.) 
 

A. TLOC 

B. RLOC 

C. DNS 

D. VTEP 

E. EID 

 
Answer: BE 
 
QUESTION 138 
Which method of account authentication does OAuth 2.0 within REST APIs? 
 

A. username/role combination 

B. access tokens 

C. cookie authentication 

D. basic signature workflow 

 
Answer: B 
 
QUESTION 139 
Which DHCP option helps lightweight APs find the IP address of a wireless LAN controller? 
 

A. Option 43 

B. Option 60 

C. Option 67 

D. Option 150 

 
Answer: A 
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QUESTION 140 
Which feature of EIGRP is not supported in OSPF? 
 

A. load balancing of unequal-cost paths 

B. load balance over four equal-costs paths 

C. uses interface bandwidth to determine best path 

D. per-packet load balancing over multiple paths 

 
Answer: A 
 
QUESTION 141 
Which protocol infers that a YANG data model is being used? 
 

A. SNMP 

B. NX-API 

C. REST 

D. RESTCONF 

 
Answer: D 
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